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Please check whether you have got the,nght queatmn paper
N.B: 1. Question.No.1 is compulsory. B AR A
2. Solve any three questions from remalmng S £
3. Assume suitable data if necessary. i e
4. Figures to the right indicate marks

Q. 1 a) Design a differentiator to differentiate the lnput s:gnaf that varles ln frédu tOIOHztol kHz 05

b) Compare ego crossing detector with Schmltt tngger c1 rcu It T g 4 b ». 2 05
) Explain Resolution, Accuracy and settling time wn‘th respect 10 IAC &5 R 05
d) Explain Inverting mode current ampllﬂer curcuut usmg QPﬁ\MP ” e 05
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a) Define the following Y & . . 10
i) Slew Rate ) Outpt offs et volta_ge"" WIS
i) CMRR j_ ;;y);pggB.-:.._ RS el
iii) Input offset voltage '"'”ff'”}”   f‘f_ f Y TSl

b) Draw neat dia gram 0f lnstru mentatlbn p and he nce de rive the equation of output 10

a) Explam Wawng of R/2R {add er 53 ,_ f;.-{'i?f 'L-_-__:' | -
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a) Explam Astable mmltmlbratar"ﬁ - "

g op'amp. 10
b) e 5'8”3 2“" erder KRC wrth cuwﬂ‘ frequen cy to =1kH, and Q=5 10
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.j;_?’;a) Des tgn M Gnlgstablle usmg l( 555 to gen erate output delay of 10 ms. 10

| b) Explain lnte rnal d f” ‘ ‘iDWEr am ﬁhﬂe g LM330 10

& _';ﬂ_;_:?b) Des lgn a genemtor c:rcurt to get the output frequency at 1.5 kHz and Vo(p_p)-—-? 5vusing 10
op*am Fo e
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